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GRE_E6_94_c86_124104.htm 问题2 In the context in which it

appears, guardians most nearly means A Appraisers B Authors C

Fathers D Determinants E Champions 问题类型： 词汇题，五选

一题型 问题分析： 就现行GRE考试的阅读题目而言，词汇题

出现得并不多，词汇题目中也主要考察类比关系和反义关系

，而寻找同义词或者近义词则是TOEFL阅读中常考察的题型

，这里单独考察词汇题是牢牢扣紧了改革原则，考察词汇在

语篇中的意思而不是单纯考察词汇意思，同时这里选择的词

汇比较冷僻guardian在m-w字典上的含义是take care of one

person or property而答案里的father则更是GRE 典型的熟词僻

义的考察模式，没有一个考生在看到father的时候会说自己不

认识的，而这里做保护和监护解的意思却很少有知道的。或

者说，遍寻GRE词汇的各种参考书也很少能找到收录father这

个词的，但是这是GRE考试考词汇的特点，一定要注意。勤

查字典，是考试获得理想成绩的基本保证。 文章二 短文章

(100words 2 questions 文章100词左右，文章之后有两个问题要

求考生回答) Objectively, of course, the various ecosystems that

sustain life on the planet proceed independently of human agency,

just as they operated before the hectic ascendancy of Homo sapiens.

But it is also true that it is better or worse, been substantially modified

by human culture. Nor is this simply the work of the industrial

centuries. It has been happening since the days of ancient

Mesopotamia. It is coeval with the origin of writing and has occurred



throughout our social existence. And it is this irreversibly modified

world, from the polar caps to the equatorial forests, that is all the

nature we have. 问题3： Consider each of the three choices

separately and 0select all that apply. The credited response may be

one, two or all three of the choices. It can be inferred from the

passage that the author would agree with which of the following

statement? A Overtime the impact of human culture on the natural

world has been largely benign. B It is a mistake to think that the

natural world contains many areas of pristine wilderness. C The only

substantial effects that human agency has had on ecosystems have

been inadvertent 100Test 下载频道开通，各类考试题目直接下

载。详细请访问 www.100test.com 


